







 –





● 


● 

– 

– 

– 
● 

– 

– 

– 






● 
● 



– 

– 

– 
● 

– 

– 

– 

– 




● 

● 

– 


– 

– 


–  “ ”




● 

● 

– 

– 

– 

– 


–  “ ”


































● 

– 

– 
● 

– 

– 
● 

– 


– 





● 

– 
● 
● 


● 


● 

– 
● bank.cc




● 
● 

● pthread_create

– 

● bank.cc

pthread_t spender_thread;

pthread_create(&spender_thread, // identifier

               NULL,            // attributes

               spender,         // start function

               (void*)p_nb_transfers // arguments

               );




● pthread_create

– 


– 


– 


– 




● 
● 

– 

– pthread_exit

– pthread_cancel

● 

– pthread_join

●  bank.cc




● 
● 
● 

– 


● bank.cc


Thread 1
int a = x
a = 2*a

x = a

Thread 2
int a = x

a = 2*a

x = a

Value of X
10

20
20




● 
● 
● 

– 

– 

– 
● 

– 





Thread 1
Lock X
int a = x
a = 2*a
x = a
Unlock X

Thread 2
Lock X -> Block

Lock X
int a = x
a = 2*a
x = a
Unlock X

Value of X
10

20

40




● 


● 






















● 







● 



– 


– 

– 


● 





● 

– 
● 

– 


● 
Thread 1
Lock X

Lock Y -> Block

Deadlock

Thread 2

Lock Y

Lock X -> Block
Deadlock




● 

● 

– 

– 

● 




● 

– 

– 

● 

– 

– 

– 

● 


